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Math

Use the spinner at the right to answer the following.

D On what number is the spinner least likely to stop?

—_—

& On what number is the spinner most likely to stop?

—_—

3 What is the probability of stopping on an odd

number?

Lb What is the probability of stopping on an even

number?

. 5) What is the probability of stopping on 3?

A jar contains 3 blue marbles, 4 green
marbles, and 8 yellow marbles. What

is the probability of drawing a blue or
green marble?

7) A marble is drawn from the jar and
then replaced. A second marble is
drawn. What is the probability that a
yellow marble was drawn both times?

q) P(blue and E) ———

g) P(red and C)

| ) P(blue and C)
I3 P(white and E) ——— 10 P( |
213 P(redand D) ———
,;,) P (white and A) ———— ?9 (
lue and B)
1)) P(olue and A) ——— 19 P(blue
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Solve.

/@ What is the probability of tossing {‘7) What is the probability of tossing tails
heads on a nickel and rolling 6 on a on a nickel and a number greater than
cube numbered from 1 to 67 2 on the cube?

@ What is the probability of tossing I‘b What is the probability of tossing
heads on a nickel, tails on a dime, and heads on both coins and rolling a 2 or
rolling a 3 on the cube? , . a4 on the cube? |

Use the following information to write the probability for each.

A bag of marbles contains 5 red marbles,

3 blue marbles, 6 green marbles, and 2
white marbles. The first marble and any other
marbles drawn are not replaced.

5 P(red then red) | 2i) P(red then white)
23) P(blue then blue) S 23) P(blue then white)
;!';D P(green then green) ———— 25 P(red then —green)
) PW, G) ——— 2) P(R. B)

29 PRW. B) | M PG.GG)
%) P(B, R, G) — 5} P(R. G, G)
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